

$$a_1 + a_2 + a_3 = 21$$

$$a_1 \cdot a_2 \cdot a_3 = 48$$

$$f(1+q+q^2) = 21q \Rightarrow f q^2 - 17q + f = 0 \Rightarrow q = \frac{17 \pm \sqrt{289 - 4f}}{2} = \frac{17 \pm 15}{2}$$

$$q = f \text{ و } q = \frac{1}{f}$$

$$x^2 + 2x - 1 = f x^2 \rightarrow x^2 - 2x - 1 = 0 \Rightarrow x = \pm \sqrt{2} \xrightarrow{q > 0} x = \sqrt{2}$$

$$1, f, 2, \dots \Rightarrow v = 8 \left(\frac{1 - (\frac{1}{f})^v}{\frac{1}{f}} \right) = 14 - (\frac{1}{f})^v = 15 \frac{v}{8} = \frac{12v}{8}$$

$$1 + q + q^2 + q^3 + q^4 = \frac{f-1}{f-1} \Rightarrow q = \frac{1}{f} \quad \text{و} \quad S_n = r^n \left(1 - \frac{1}{f} \right) \frac{1}{\frac{1}{f}} = 24r^n$$

$$d = \frac{4f-1}{4} = \frac{4r}{4} = 10/2 = \frac{r}{1} \quad A = 1 + r d = 1 + r \cdot \frac{4r}{4} = 1 + \frac{16r}{4} = 1 + 4r$$

$$= 1 + \frac{16r}{4} = 1 + 4r, d = \frac{4d}{r} \quad B = 1 + r^2 = r^2 - 1 \cdot A = \frac{4d}{r} \Rightarrow 1$$

$$A + B = \frac{4d}{r} + \frac{14}{r} = \boxed{\frac{11}{r}}$$

$$d = \frac{1}{f} \Rightarrow a_{1001} = -18 + 2d = 1 \Rightarrow 2d = 18 \Rightarrow d = 9 \Rightarrow q = \frac{1}{f}$$

$a_p = a + r d$ $a_v = a + q d$ $a_q = a + \lambda d$ $(a + q d)^r = (a + r d)(a + \lambda d)$ $(a + q d)^r \Rightarrow (a + r d)(a + \lambda d) = 0 \Rightarrow r a d + r_0 d^r = 0 \Rightarrow r d (a + \lambda_0 d) = 0$ $d = 0 \vee d = \frac{-a}{\lambda_0}$	6
$a_r = A + d$ $a_p = A + r d$ $a_\lambda = A + v d$ $(A + r d)^r = (A + d)(A + v d)$ $g_{10} = g_r r^q = \frac{1}{f} \cdot r^q = \frac{1}{f} \cdot \Delta 1 r = \boxed{1 r \lambda}$	v
$r g_r$ $r g_r^r$ g_r^r $r g_r^r - r g_r = g_r^r - r g_r^r$ $r r - r = r^r - r r \Rightarrow r^r - r r + r = 0$ $\Rightarrow (r-1)(r-r) = 0$ $\boxed{r=r}$	λ
$a_f = \frac{\Delta}{f}$ $a_\lambda = \frac{1}{f}$ $a_{1r} = -1 \Rightarrow (a + \frac{\Delta}{f})(x-1) = (x + \frac{1}{f})^r$ $\Rightarrow \frac{-x}{f} - \frac{r1}{1f} = 0 \Rightarrow \frac{-r1}{f} \Rightarrow -r, -\Delta, -\frac{r\Delta}{f} \Rightarrow \boxed{q = \frac{\omega}{f}}$	q
$r a + \lambda d = v r$ $a q^r = a + d$ $\left. \begin{array}{l} r a + \lambda d = v r \\ a q^r = a + d \end{array} \right\} 1 + q^r + a^y + v r \Rightarrow q = r$ $d = v$	1.